6.

CS 451 Activity 10
Solution

0 2 24 1 2 14 1 2 14 1 0 10
1 2 1|4 = (0 2 24| =0 1 12| =01 12
0 1 -10 0 1 -10 0 1 -10 0 1 -10
1 0 -1/0 1 0 -10 1 0 O]l 1 0
2|01 1|2]|=>]01 12| =>1(0 1 12| = |0 1
0 0 —-2-2 0 0 1]1 0 0 11 0 0

Thus original system has a unique solution X1 =Xz = x3 = 1.

1 1 02 1 1 0|2 1 0 215 1 0
0 -1 23| =2 (01 -2-3|=> (01 -2-3| =>|0 1
0 1 13 01 1|3 01 13 0 0
1 0 215 1 0 0]1 I 0 01
2 |01 -2-3| =2 |0 1 -2-3|=> (0 1 0l
0 0 12 00 1|2 0 0 12

Thus the original system has the unique solution x; = 1, xo =1, x3 = 2.
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